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= "4 (ppm) ¢ 4 (ppm)
1 5.10 4.90
2 5.20 4.70
3 5.10 4.50
4 5.20 4.60
5 5.40 4.80

Ofh 7 L fee 2 ARt R R L3 dpk 2 CRB AL (54)
OF cu”’ KA RNERER S 500ppm: ¢ 4 FHREFNEEICE B
A2 -R? (FBIEN)(5A)
(:)L__/J' 2 e 4 mﬁﬁii%{: » BB TS — f@‘ﬁtﬁ% 5.40 ppm 4F f‘g\%%ﬁﬁ fo ﬁ'{
Vo FR R - BPERBEBEZFTEIARL? (FBIEN)(54)
% - tE (tvaue)
pdE 1 2 3 4 5 6 7 8 9 10
t (95%) | 127|430 318|278 | 257 |245|236| 231|226 | 223
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S hd R
PEYIN 2 3 4 5
2 19.00 | 19.16 | 1925 | 19.30

9.55 9.28 9.12 9.01
6.94 6.59 6.39 6.26
5.79 541 5.19 5.05

Q 7= & (critical vaueof Q)
BB i 3 4 5 6
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